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Rosyth School
End-of-Year Examination 2024
Mathematics oo
Primary 3
Name : { ) Total
Class : Pr3- Duration: 1 h 15 min
Date 1 22 October 2024 Parent's Sighature:

tnstructions to Pupils:

1. Do not turn over this page until you are told to do sa.

2. Follow all instructions carefully.

3. Answer all questions.

4. This paper consists of 3 parts; Sections A, B and C.

5. Forquestions 1 to 8 in Section A, shade your answess in the Opficafl Answer
Sheet (OAS).

‘Maximum Marks - Marks Obtained

Section A 12 |
Section B 24
Section C 14
Total 50

* This paper consists of 15 priritad pages altogether (Including the cover page).
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Section A (12 marks
Questions 1to 4 carry 1 mark each. Questions 5o 8

1 fo 8, four options are given. One of them Is the corre
3 or4). Shade the comect ovals (1, 2, 3 or 4) orite tha

All diagrams in tbfs paper are nof drawn to scale unless stated otherwise.

cary 2 marks each. For questions
ctanswer, Make your choice (1, 2,
Optical Answer Sheet provided.

1. In7321, the digit 7 stands for

()
(2
(3)
{4)

7

70
700
7000

2, What is the product of 4 and 2147

()
@

)
e

816

846
848
856

3. A strip of paper is divided into 12 equal parts,

1
How many more parts must be shaded so that Y of the paper is

shaded?
1y 5
2 6
3) 3
@ 4
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Which otie 6F the following is the same as 6 m.26 om?

1) 825em

(2) 6025cm
(3) 6280.cm
@) e2500an

. Complete the riumber pattern.

| 4852 , 4952, , 5152 .

4y 5000
[
@ 5100
w 522

The difference. between two numbers Is 158:
“The greater nunmber is 419,

‘What ts:{hie smallernumbes?

(1. 261

@ 3%

@ 3o

(CYIN 724

Jogl saved:$2461.
He saved $339 less than Raju.
uch money did Raju-save?

22
(2) $ER00
By  $2s
@y gosbn
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2], 1.3
2 ° %

What is the missing fraction?

(1)

1
4
@ 2
4
@ 2
Z
@ s
8
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Section B.(24 marks} . s . Do not write
Quostions @ to 12 carty T mark each. Quistions 130 22 carry 2 marks each.  lin ihis space
Show your warking dleafiyin the space provided for each question and write your

answers. in tHe spaces provided. For quiestions which require units, nive your
answers inthe units-stated.

All diagrams In‘this‘paper are not drawn to scale upless stated otherwise.

Vit is the smallest 4-digit odd humber that can be formed using althe -
digits below? o

Each digit can ohly be used orice. -

sl lof 2] |7

Ansi ‘:

10,  Find the difference bietween 651 -and 7040,

14. Xiao'Ling hiad aribbon 4m fong.

She euthe fibhon and gave aWay twopleves of rittions sach 75 em fong.
Whatwas-the ferigth ¢f ie remaining ribboih?
Express:your-dhswer in m-and com.




12, Count and write the commect amount of mongy.

BP-617

Do not write
in this spag

Ans:$
13.  The figure i.s“;:;dé‘ up éf 2- identical rectangles.
Find the perimeter of the figure.
< 15 em >
4 cm } 9em .
Ans:
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14. Thebar graph shows the numbér of fbatbaﬁé sold in a-8Hop from Monday fo Do not wiite

Friday.

Thursday RIS R
Wednesday iEINNREEENN

Tuesday (NNERRISH

Monday 7 g

‘Number of Foothalis Sold

Each football was sold for $9.

‘How much more. money did the: shop collestort Tuesday. compared
1o Monday?
Ans:§

Ih-this space




15.

The graph below shows the humiber of students who wear spectacles and

students who do nof wear spectacles.
35 '
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\\&\\\\ Studerits wearing spectacies.

Students not wearing spectacles.

Find the total number of students who wear spectacies in the three classes.

Ans:

BP-619

Do not write
in this spacs




16. Samy lefthis:scheol at 245 p:m.
He'Heeded-42 iinttes o travel from tils schaol ta his hame.
Whigt:titie did bhé Yeach totne? '
Express your answer in 24<hour cloek.

BP-620

Do notwiite

_Hinthis spsce

17.

“Then, Siti won 256 more:poiiits and Mary lost 16:points,
How tifany friors potrits:did St frave than Mary I fie-end?

Ans.

St and-Mary scored the samenumberof points in 2 game at first.

48,  MeiLing, Serah and.Diya had 270 beads.
e Ling had 3 times as wiany beads as Sarah.
Diiya had twice.asmany beads:as Sarah,
‘How many bgads did Diya-Hiave? ~

Ans:
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18. MrTan puts some sticks at equal distance on a stralght fine, Do not wiite

- In this space
1st 5th tast stick

i - -~ 1€ Pre L AL L

The distance between the 1% and 5% stick is 20 m.”
a) What s the distance between the 1%t and 2 stick?

Ans; _ ml

b} The tatal distance between the 15t.stick and the last stick is 40.m.
How many sticks are there altogether?

. 1 5 2z
20.  Arrange the fractions -, 5 5 N arder,

Begin with the greatest fraction.

Ans: —
greatest’

10




24, Inthe figure, haw many of the merked angles are grester than a right

argle’?
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Inthis epace

22 Shidy the figurein the square.gridiend fillinthe blanks below.

1

P,

() 18enitify and namie:a pairof peipendicular lines.

Ang: (a).

{b) deritity andname 2 pair of parale tines.

Ansr(b) .

v




Section C {14 marks)

Questions 23 to 24 cany 3 marks each. Questions 25 to 26 cary 4 marks each.

Show your working clearly and write your answers |

n the spaces provided. The

number of marks available is shown inbrackets [ ] at the end of each questior
of part-giestion.

23.

In the diagram below, each wooden block is of equal mass.

' The mass of & blocks is 852 g.

Find the mass of the jar.

3]

e f

BP-~623

Lo not wiite
ini this space

12




24.

- Bom
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' Figure 1 s aTectangle and Figure 21s:4 square, {Donotwite

The perimeter of the-roctangle: s the same as-he perimeter of the square. Bl space

The length ot the square s Bioni:

HES

Gom

A
9

o Figure 2
Figure 1

‘Findthe length of the rectangle. given that the breadth is 6 cm.

Arisy B I

48
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25.  Uncle Tom bought some books. Do.not write
He packed 8 books in each box and found that he had 6 books left. in this space
Theré were 240 boxes attogether:

(a)  How many books did he. buy?

Ans: 2] :]

{b)  Hesold sach box of books for $9 and the rermalning books at $2 each.
How much did he receive altogether?

Ans: i21 l 1

14




26, Aminah had sorie besids.
© Shoused 200beas to make a necklace.
Hst imather baught her ariother 350 beads.
She had 632 beads'in th end. |
How many beads did Aminah have at first?

Anst ____

M

End of Paper

15
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SCHOOL ROSYTH SCHOOL
LEVEL PRIMARY 3
SUBJECT MATHEMATICS
TERM SA2
1Q1 Q2' - 1Q3 Q4 QS 1Q6 Q7 Q8
14 4 4 1 2 1 la 4
Q8 2057
Q10 6389
Q12 2m 50cm
Q13 15+15=30
30+ 9=39
39+ 9=48
4x4=16
48 + 16 = 64cm
Q14 34 x 9 =306
18 x 2 =162
306 -162 =144
Q15 24+ 8 =32
32+15=47
Q16 1527
Q17 256 +16 =272
Q18 270 -6 =45
45 x2=90
QiS(a) |6-1=4
20+4=5
Q19(b) |40+5=8
8+1=9
Q20 2 5 1
39 3 _
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2

Q21 -
{Q22 (a) |cD and CF
laz2 b) |BFICD
Q23 | 852+ 6=142
{142 x 2 = 284
852 - 284 = 568
Q24 |8x4=32 -
32-12=20
20+2=10
Q25 (a) | 240 x 8 = 1920
| | 1920 + 6 = 1926
Q25 (b) | 240 x 9 = 2160
|6x2=12
2160 + 12 = 2172
la26 | 632-350=282

282 + 209 = 491

BP~628



